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Cuts used in this analysis

T'rigger2 L.tr.n==
—0.03 < df < 0.05 1500 < cer_asum < 30000
do| < 0.025 0.3< E/P < 1.7

dp| < 0.045 L.pri2.asum_c > —L.prll.asum_c + 1700
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Exit Window thickness is slightly different for each
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Plan

e Use the Yield of the gas (tritium, helium, ...) and the dummy, to
calculate the background contamination..

e Divide the spectrum in two halfs and scale each foil of the dummy with
respect to the corresponding cap in the cells.

e Use cuts of 3.5 cm and calculate the background for each cut.

e Use the same cuts in the gas and calculate the Normalized Yield with
respect to the lowest current run, after doing background subtraction.
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Tritium Normalized Yield for the different cuts
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Helium

Normalized Yield with respect to the
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Deuterium

Dummy Events after scaling
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Deuterium

Normalized Yield with respect to the
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Hydrogen

Dummy Events after scaling

4000 e Cutl
e Cut2
e Cut3
3500 e Cut4d
e Cuth
4‘3 e Cutb
C 3000 A
U]
> ()
Ll [
> 2500 o
= [}
g L L ) 0
Aa 2000
“— o
(®) o
| -
Qg 1500
s
-
=)
1000
=
[ [
° o
50019 " °
(1] 0 " 1' "
0 -
25 5.0 75 10.0 125 15.0 175 20.0 2.5

Current (uA)

Number of Gas Events after Background Subtraction

Gas Events after Background

35000 A

30000 A

25000 A

20000 A

15000 4

subtraction
e Cutl
e Cut2
e Cut3
e Cut4d
e Cuts
e Cut6
'y
0
°
: s
0 (1]
“ 0 'y
0 ®
'y (]
0
0 ) 4
'y °
25 5.0 75 10.0 125 15.0 175 20.0 2.5
Current (uA)




Background Percentage(%)

Background

Hydrogen

e Cutl
104 e Cut2
e Cut3
e Cut4
e Cutb
e Cuté6
8 -
0 o ¢
)
61 o
0 °
4170 P L4
2 -
0 0 [} o °
(]
H § H ] ¢
0 . - T . - : T - .
2.5 5.0 7.5 10.0 12.5 15.0 17.5 20.0 22.5

Current (uA)

Density change

110

1.05

1.00

o
©
o

=4
0
o

0.85

BIGI0 [oeosencesessonsosessenseibossassssssmsssessonsen S SR ]
Nearest to the exit window
0.75 ‘ ' ‘ L
0 5 10 15 20 25

Normalized Yield with respect to the
lowest current

| - Feegecut
Lo ......................... ......................... .i..i. cut 2 4
Nearest to the s
o entrance window . "\ . pdcuts|
| i | - piedeCuté

Current (uA)



Conclusions

It seems to be a z dependence in the target, where the gas nearest to the entrance
window is less sensitive to the density change. Note: the cooling system is nearest
to the entrance window. And the gas closest to the exit window, is the region
where is more sensitive to density change.

To do:

The usual cut used for the target is in around the center ¥(-0.07 to 0.07 m). What is
the z dependence in that region?



Current Trip Cut
| +/-1.5 pA
If there was a trip or the current was higher than 1+1.5 pA, wait 10 s for the gas to be in equilibrium.
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L.pri1.asum_c:L.prl2.asum_c
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